ol

To
Tor

o

my

NIl

4

”_A' .
~ B
©° o
WA
o X
T o
N
T =
UE o

k.

Y

whab W47} e o




ohe 22 2L nhER ABCD oA /x 9] 2715 F3hH?

i N

25 C

@ 25° @ 45° ® 50° @)65° ©® 75°

ZtA o] 3t W ZHE o] S ESIE 2 /ABO = 25° 0|1, /AOB =

whebA] zx = 90° - 25° = 65° O]t}




oh& 197 22 2274 ABC oA x +y 9] 3k +FotdA?

- - 2
AL = BHx HC ©|2& 82 — 6y, .'.x:%
ST i) = B L o
E 3
32 40

X ey V
wFhA x4y =+ 5




=

£ whz ) vet

Apwgel Aol

o

1Ao7t &t

B

ife)
wmo

Ho
g
ol
y./»o

o




5.

the oA gABCD cooEFGH € ©], oABCD 9} oEFGH 2]
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